147 2000 pt  H247 1720 pt  534L 1460pt  H44L 1340 pt 3fr=#560 1220 pt 4fr=%74r 1110 pt

FL

. 4 €Sk H 1 H2
- HE B 8.65 |3 RONINTDO @A#E DY T 1| oxE x| 875 |2 12| RA 945 |1
H 2-2| M HFE | 11.95 |2 <B¥f> H 2-1| /NI EA | 685 |3 H 22| HH XE | 930 |2
1-2 KiFE (B3 1215 |1 3-2 BRE EA 6.60 |4 3—1 He % 800 |3
H 21 ® X 720 |4 H 4-2 HE B 11.15 |1 H 4—1 A IR 6.95 |4
&QF 311—%91?1000 ot 4W=%13fz 900 pt . N e
1-1 KiE fhsE 850 |1 5—1 SR E 8.05 (4 1-2 nEE &= 6.75 |3 5-2 A IR 9.25 |1
H 2-1 K 785 |2 H 61| M@ %E | 870 |2 H o2 | &K #BA 465 |4 H 62| BIn FE | 605 |3
3-2 K& BA 6.55 |3 7-2 NI BEA 11.30 |1 3—1 A # 12.75 |1 7—1 WE BN 550 [4
H 4-2 NI & 585 |4 H 8—2 2% BA 810 |3 H 4-1 53 EA 8.00 |2 H 8—1 HE B 6.95 |2
&R3 =51 7&1800 pt Al=%25(1 720 pt . s e
1—1 KZE {3 11.23 |1 5—1 ® X 9.16 |1 9—1 A # 1040 |1 13—1 B BEA 9.16 |1
H2—W FeE 7.70 |3 HG—W F BX 817 |2 Hwo—w KB BA 990 |2 HM—W A = 520 |3
3-2 gk = 783 |2 7-2 bV IN -} 470 |4 11-2 #;AR KEd 474 |4 15—2 NI RE 6.94 |2
H4—2 INEF R 6.00 (4 HB—Z B BX 6.04 |3 sz—z NI =R 727 |3 H16—2 B=F #EE 416 |4
H5 H6 H7 H8
-2 SEXEPNY 580 |4 5-2 SR 503 |4 9-2 BEH BN 9.00 |1 13-2| FMH KE 466 |4
Hz—z A% fif | 660 |3 Ha—z BB &2z | 567 |3 H‘H 20 = | 700 |3 Hw—z BIE BRA | 746 |2
31 TR B 817 |2 7—1 A FiE 707 |2 11—1 NI BEA 707 |2 15—1 HE 9= 480 |3
Hfl—w S B 9.33 |1 Ha—w B X 736 |1 sz—w AR Esb 566 |4 Hm—w MEIE B 11.83 |1
‘stm %33&;350 ot AW=3%4941 543 pt N N .
KiE fhsE 14.00 |1 =H Bk 8.16 |3 A R 11.66 |1 INEF BER 8.40 |2
H %t st | 503 |3 H e B 9.83 |1 H g & 840 |2 H SH B 840 |1
ss—k| £H B+ 457 |4 2-2 KEF LK 9.26 |2 4-2 A M 467 |4 6—2 HE 5 750 |3
H -1 S PN 717 |2 H 3—1 RE X 380 |4 H 51 Bl Bk 490 |3 H 7—1 mgE BA¥ 617 |4
H5 H6 H7 H8
® X 766 |1 HF BX 11.60 |1 SV} 700 |2 He &x 733 |1
H AR # | 590 |2 H WE &2 | 850 |2 H ED mA | 414 |4 H A B | 640 |2
8—2 JbE &KX 404 |4 10-2 BB 3 820 |3 12—2|  BEA FE 717 |1 142 FH OB 197 |4
H9—W NI Rz 524 |3 Hm—w B RE 706 |4 HWB—W JIE K& 547 |3 st—w ER H% 6.20 |3
H9 H10 H11 H12
He & 9.00 |1 KB BA 11.50 |1 INIT BEA 984 |1 NI =H 747 |2
H B HE | 664 |3 H B Es | 727 |2 H A k@ | 603 |2 H N REE
1-2 WE BN 783 |2 3-2 k2K & 6.63 |3 5-2 EH E=- 550 |3 7-2 X BE 497 |4
H 2—1 Bk 2 557 |4 H4—W ERgE BEE 0.00 (4 H 61 g =& 546 |[4 H 8—1 RlE 17 6.63 |3
H13 H14 H15 H16
B BEA 750 |1 He 2 8.74 |1 el S 710 |1 i -} 1117 |1
H =M g% | 450 |4 H B BA | 857 |2 H Il | 658 |3 H &2 mE | 610 |2
9-2 JdtE Ht 6.34 |3 11-2 HE FE 434 |4 13-2 it HE 500 |4 sv—k|  FEEH BAGA 546 |3
Hw—w FMHF XE 694 |2 sz—w D B 500 |3 Hw—w NI & 6.94 |2 st—z T ER 480 |4
‘R‘] 3fir %65}311437 pt  4Rr=%8011 337 pt o s w
B XK 735 |3 % #REE 470 |3 FEH g5 410 |[4 BEfE BEE 850 |1
H B @£ | 370 |4 H BB B | 420 |4 H hE x| 550 |1 H B 450 |2
WE BN 775 |2 KEF (L% 575 |2 g NI 510 |2 MHF EE 365 (4
Hs»—p S KN 875 |1 HTw—w Kk = 6.20 |1 HTw—z BE BT 440 |3 Hm—w O BEf 430 |3
H5 H6 . H7 H8
AH BE= 6.30 |2 BK B 515 |3 X BE 460 |2 RlE 17 6.50 |1
H Bl % 215 |4 H g =& | 670 |1 H 3 WA | 385 |3 H R A | 400 |3
g = 515 |3 T3—1 NE &= 570 |2 g A¥ 6.50 |1 s &KX 525 |2
HT2—2 Bl B 775 |1 HT‘H afE BA 475 |4 HTS—z % 18 275 |4 Hm—z aE & 125 |4
H9 H10 H11 H12
NI Faz 505 |1 MH# KB 775 |1 B RE 6.00 |1 INE E 1.60
H B nth | 445 |2 H ki A% | 250 |4 H g A | 190 |4 H Ba Fiig | 650
T6—1 B BX 430 |3 = A 520 |2 TEOE 350 |3 DB 11.25
HTe—w Ji RE 290 |4 HT5—2 AH EE 395 |3 HT6—2 HE & 380 |2 Hw—z EA 2.70
H13 H14 H15
R & 510 |2 NI & 775 |1 ER H% 10.50 |1
H BB 2% 375 |4 H B # 6.65 |3 H #* BN 425 |3
L R 410 |3 -1 B B 505 |4 B X 365 |4
HT8—2 JIER K& 725 |1 HT8—W FH B 735 |2 HS’/—F ERB ER 525 |2




147 2000 pt  H247 1720 pt  534L 1460 pt 4L 1340 pt

®FL
1| mE T | 340 |4 RONINZO BEAREE DY S
Hz—z A0 #%EBEFE | 485 |3 <ZF>
1-2 KA Rk 550 |2
H 21| #BA& INEE | 655 |1
‘SF 311—%51i|11220 pt  A4RI=%747 1110 pt o
1-1 i &=k 950 |2 1-2 HE =R 470 |3
H -1 | EE E£# | 410 3 H 22| &M@ WA 413 |4
s—2| Ei BT | 400 |4 -1 | A0 KExE | 497 |2
HH AE T 9.80 |1 Hzx—w B NEA | 564 |1
‘QF 311—%9%41?00 pt  4fr=%134 900 pt o s i
i &=k 6.53 |1 BR =M 640 |1 A0 HKEHE 810 |1 BAR NEE 583 |1
H g mE | 470 [3 H gl B | 400 |3 H WA k& | 450 |3 H mE BT | 470 |2
-1 RE ER 553 |2 s-1| &M@ WA 6.40 |2 12| BSE @EWHE | 400 |4 s2| LM #F | 354 |4
Hz—z KT mES | 337 |4 HH —J% Sy | 343 |4 Hz—w =R BF | 644 |2 Hzx—w Mg @R | 430 |3
‘R2 =51 7);11800 pt  4Rr=%214 760 pt o H o
mA =F | 455 |3 KT HrEs | 465 |2 &7 & 320 |4 Mg @ | 834 |1
H B @ | 530 |2 H BE HF | 075 |4 H @ #T | 460 |2 H —% sy | 457 |2
ss—|  HET BE 285 |4 2-1 | Ei HF | 485 |1 1-1| BB FETF | 456 |3 s—1| @A #®F | 390 (3
Hw—z B4 = | 1025 |1 Ha—z 1R Bx 390 |3 Hz—z AM A 850 |1 Hm-w B & 367 |4
3RI=%2501 720 pt 441 =5284r 690 pt
O R1 H 1 Ho H3 Bz R
EIE £= | 365 |3 w8 =T/ | 500 |3 @A @MF | 950 |1 l 13| RIB £ZxH | 255
Hs»—s =E HEEF | 550 |1 Hm—w Am A 6.15 |2 H”“ R Ex | 515 |2 2-3| FE EFR | 200
1| L& k& 365 |4 2|  ER HF | 11.00 |1 Ta—2| kR #EF | 420 |3 ss| WE & 3.00
Hm—z HE =R 505 |2 Hn—z By BF 200 |4 HTB&—W H#EH MmEF | 375 |4




